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1.	Introduction
In this contribution, we discuss FFS issues of Solution option 4 and show our views. 

2.	Discussion
RAN2 agreed the following in the previous meeting, and discussed how the UE determines whether the highest ranked cell supports the selected slice, and whether Step 7 should be kept or removed during email discussion [1]. We would like to further discuss these issues and show our views.
2	Following is taken as the baseline for Solution Option 4:
The “slice info” (for a single slice or slice group) agreed to be provided to the UE in the last RAN2 meeting using both broadcast and dedicated signaling are provided for the serving as well as neighboring frequencies. The following steps are used for slice based cell (re)selection in AS:

Step 0: NAS layer at UE provides slice information to AS layer at UE, including slice priorities. 
Step 1: AS sorts slices in priority order starting with highest priority slice.
Step 2: Select slices in priority order starting with the highest priority slice.
Step 3: For the selected slice assign priority to frequencies received from network.
Step 4: Starting with the highest priority frequency, perform measurements (same as legacy).
Step 5: If the highest ranked cell is suitable (as defined in 38.304) and supports the selected slice in step 2 then camp on the cell and exit this sequence of operation; FFS: How the UE determines whether the highest ranked cell supports the selected slice.
Step 6: If there are remaining frequencies then go back to step 4.
Step 7: FFS: If the end of the slice list has not been reached go back to step 2.
Step 8: Perform legacy cell reselection.

2.1 FFS in Step 5
According to the email discussion, all companies participated in the discussion agreed that the UE do not need to read SIB of a neighbor cell, and the serving cell provides slice information supported in neighbor cells. The concern is how the slice information of neighbor cells can be optimally provided. 
Most companies want to reuse existing SIB. However, we think it is not a good solution because using existing SIB to update slice information affects legacy UEs that do not support slice-specific operations. Also, when the UE not supporting slice-specific operations requests the existing SIBs, the network may transmit the SIBs including slice information unless the network identifies whether the UE supports slice-specific operations or not.
Therefore, we suggest to introduce new SI to broadcast slice information. 
Observation 1. If existing SIB is extended to include slice information, the UEs not supporting slice based cell reselection should also read SI when slice information in broadcast is updated. 
Observation 2. If existing SIB is extended to include slice information, when a UE not supporting slice based cell reselection requests the SIB, the network will transmit the SIB including slice information unless the network identifies whether the UE supports slice aware operation or not.  
Proposal 1. A new SIB is introduced to broadcast slice information.   
. 
2.2 FFS in Step 7
Case 1. Keep the Step 7 
If the step 7 is kept, the companies’ concern is that measured frequency needs not be measured again for the next slice. To resolve this issue, we suggest the possible solution.
When the UE goes back to Step 2 for the next slice, the UE performs cell reselection only if there exists new frequency that has not been measured in the previous step. Let us take an example. As presented in Table 1, Slice A is the highest priority and Slice C is the lowest priority. All Slices are supported on Frequency X and Y while Frequency Z supports only Slice C.  
	Slice A
	Frequency X

	
	Frequency Y

	Slice B
	Frequency X

	
	Frequency Y

	Slice C
	Frequency X

	
	Frequency Y

	
	Frequency Z


<Table 1>
If the UE does not find a suitable cell for the highest priority slice A, and then, the UE selects Slice C, not the next priority Slice B, for the next iteration because the UE have already checked that there is no suitable cell on the all frequencies supporting B.
Proposal 2. The UE selects the next slice in the Step 2 of Solution option 4 only if there exists new frequency that has not been measured in the previous step. Otherwise, the UE selects the second next slice to check the new frequency. 

Another solution to resolve the power consumption issue due to long slice aware cell reselection time is proposed. The UE performs iteration based on a given condition (e.g., number of slices considered for iteration). For example, the UE may go back to Step 2 two times to perform slice aware cell reselection for the three high priority slices. When 10 slices are in the slice list, if the UE frequently uses only 3 slices, the UE may not need to consider other 7 slices for slice aware cell reselection. If the UE cannot find a suitable for the three high priority slices, the UE performs legacy procedure to find a suitable cell based on cell quality. 
Proposal 3. The UE performs iteration based on a given condition (e.g., number of slices considered for iteration) in the Step 7 of Solution option 4.   

Case 2. Remove the step 7
[bookmark: _GoBack]If the step 7 is removed, the UE performs legacy cell reselection if a suitable cell is not found only for the highest priority slice. Then, the UE will select a cell based on cell quality regardless of slice support. In order to find a suitable cell supporting intended slices of the UE during the legacy cell reselection procedure, we suggest the following.
During the legacy cell reselection procedure after the UE fails to find a suitable cell for the highest priority slice, the UE consider the cell as barred if the selected cell does not support any of intended slices. After cell barring, the UE behaviour including the barring release condition may not need to follow the legacy behaviour. To be concrete, although the UE considers the cell as a candidate again for cell reselection after 300 seconds, the cell may not support the intended slice unless slice configuration for the frequency has not been changed. So, the new barring release condition can be introduced. For example, if the UE leaves the validity area associated with the slice configuration, the UE consider the barring cell as a candidate for cell reselection.
Proposal 4. When the UE performs the legacy cell reselection procedure because the UE does not find a suitable cell for the highest priority slice, the UE consider the cell as barred if the selected cell does not support any of intended slices. 
Proposal 5. The UE considers the cell as barred if the selected cell does not support any of intended slices until the UE leaves the validity area (e.g. TA). 


3.	Conclusions
In this paper, we discuss remaining issues for slice based cell reselection and revisit a few topics discussed in Post115-e email discussions for further discussion. We have following proposals:
Observation 1. If existing SIB is extended to include slice information, the UEs not supporting slice based cell reselection should also read SI when slice information in broadcast is updated. 
Observation 2. If existing SIB is extended to include slice information, when a UE not supporting slice based cell reselection requests the SIB, the network will transmit the SIB including slice information unless the network identifies whether the UE supports slice aware operation or not.  
Proposal 1. A new SIB is introduced to broadcast slice information.   
Proposal 2. The UE selects the next slice in the Step 2 of Solution option 4 only if there exists new frequency that has not been measured in the previous step. Otherwise, the UE selects the second next slice to check the new frequency. 
Proposal 3. The UE performs iteration based on a given condition (e.g., number of slices considered for iteration) in the Step 7 of Solution option 4.   
Proposal 4. When the UE performs the legacy cell reselection procedure because the UE does not find a suitable cell for the highest priority slice, the UE consider the cell as barred if the selected cell does not support any of intended slices. 
Proposal 5. The UE considers the cell as barred if the selected cell does not support any of intended slices until the UE leaves the validity area (e.g. TA). 
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